



addition av fraktioner (korrekt fraktion) (felaktig fraktion)

namn: _____

Datum: _____ Poäng: _____

$$\frac{3}{7} + \frac{7}{6} =$$

$$\frac{4}{9} + \frac{4}{6} =$$

$$\frac{5}{4} + \frac{4}{6} =$$

$$\frac{2}{8} + \frac{4}{7} =$$

$$\frac{6}{9} + \frac{1}{2} =$$

$$\frac{1}{2} + \frac{3}{4} =$$

$$\frac{2}{9} + \frac{2}{5} =$$

$$\frac{3}{8} + \frac{4}{3} =$$

$$\frac{1}{9} + \frac{2}{8} =$$

$$\frac{3}{9} + \frac{5}{8} =$$

$$\frac{3}{4} + \frac{2}{4} =$$

$$\frac{2}{6} + \frac{1}{4} =$$

$$\frac{3}{7} + \frac{2}{5} =$$

$$\frac{2}{3} + \frac{4}{6} =$$

$$\frac{4}{6} + \frac{1}{2} =$$

$$\frac{7}{3} + \frac{7}{2} =$$

$$\frac{7}{6} + \frac{4}{8} =$$

$$\frac{6}{8} + \frac{1}{9} =$$

$$\frac{3}{9} + \frac{6}{8} =$$

$$\frac{2}{3} + \frac{4}{6} =$$



addition av fraktioner (korrekt fraktion) (felaktig fraktion)

namn: _____

Datum: _____ Poäng: _____

$$\frac{3}{7} + \frac{7}{6} = \frac{67}{42} = 1\frac{25}{42}$$

$$\frac{4}{9} + \frac{4}{6} = \frac{10}{9} = 1\frac{1}{9}$$

$$\frac{5}{4} + \frac{4}{6} = \frac{23}{12} = 1\frac{11}{12}$$

$$\frac{2}{8} + \frac{4}{7} = \frac{23}{28}$$

$$\frac{6}{9} + \frac{1}{2} = \frac{7}{6} = 1\frac{1}{6}$$

$$\frac{1}{2} + \frac{3}{4} = \frac{5}{4} = 1\frac{1}{4}$$

$$\frac{2}{9} + \frac{2}{5} = \frac{28}{45}$$

$$\frac{3}{8} + \frac{4}{3} = \frac{41}{24} = 1\frac{17}{24}$$

$$\frac{1}{9} + \frac{2}{8} = \frac{13}{36}$$

$$\frac{3}{9} + \frac{5}{8} = \frac{23}{24}$$

$$\frac{3}{4} + \frac{2}{4} = \frac{5}{4} = 1\frac{1}{4}$$

$$\frac{2}{6} + \frac{1}{4} = \frac{7}{12}$$

$$\frac{3}{7} + \frac{2}{5} = \frac{29}{35}$$

$$\frac{2}{3} + \frac{4}{6} = \frac{4}{3} = 1\frac{1}{3}$$

$$\frac{4}{6} + \frac{1}{2} = \frac{7}{6} = 1\frac{1}{6}$$

$$\frac{7}{3} + \frac{7}{2} = \frac{35}{6} = 5\frac{5}{6}$$

$$\frac{7}{6} + \frac{4}{8} = \frac{5}{3} = 1\frac{2}{3}$$

$$\frac{6}{8} + \frac{1}{9} = \frac{31}{36}$$

$$\frac{3}{9} + \frac{6}{8} = \frac{13}{12} = 1\frac{1}{12}$$

$$\frac{2}{3} + \frac{4}{6} = \frac{4}{3} = 1\frac{1}{3}$$